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= 774,946
2 260,000
& 1,893,425
Al 8,664,773
NESZBH=sH 7,858,044 4,077,246 3,780,798
= 274,946
2 260,000
& 1,863,425
Al 5,459,673
NESAH 43t 6,093,239 2,617,932 3,475,307
= 52,214
2 260,000
o= 1,579,336
Al 4,201,689
M dXelge FNEs 10,000 9,400 600
201 et 9| 4,000 3,400 600
01 AR 22l ] 2,000 1,400 600
O gBtx==H| 2,000,000& 2,000
02 2224 H| 2,000 2,000 0
O AIE&EH SXH & 2ERZ2 2,000,000& 2,000
202 044 3,000 3,000 0
01 2L Y| 3,000 3,000 0
O XNYGdH &35 2] 3,000,000& 3,000
203 R F & 3,000 3,000 0
03 AIZH =& 25 X H| 3,000 3,000 0
O =2 gHYR =X 3,000,000 3,000
22X ANEE &=F3 22 162,500 24,000 138,500
201 LBt ]| 41,500 1,000 40,500
01 AP 22| H| 41,500 1,000 40,500
O LA 8935 29 1,000,000 1,000
© MEYIHOANE AHHLY
100,000 * 5% « 13| 500
O T ASIEEOS AIRA 2dX=
40,000,000 40,000
307 QI2t0| & 121,000 23,000 98,000
02 QI2tAAMAIE E =X 10,000 8,000 2,000
O ==sx¢g fF3as N 5,000,000& 5,000
O =Y DAY 5,000,000& 5,000
04 CIZ2HSHALALS B X 111,000 15,000 96,000
O 22X Y A X& 15,000,000& 15,000
O Al & S 0IY ALK& 6,000,000& 6,000
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ALl & 3 T o
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= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 =8l 8,000 8,000 0
© M=z Hl 8,000,000& 8,000
301 L2 A F 10,500 12,000 21,500
09 HALAHIEA S 3,500 0 3,500
O FHIASLZZ2 I H 3,500,000 3,500
12 JIEBHE4 = 7,000 12,000 25,000
© 2 AHHI 7,000,000& 7,000
LAIN=EEHH SR2XE 12,500 7,500 5,000
201 L2l 9,500 7,500 2,000
01 At 22l 5,000 3,000 2,000
O Zet=+=EH| 5,000,000& 5,000
02 8323l 4,500 4,500 0
O YIIN=EH 22223 £ AMEFHHSRX
4,500,000 4,500
405 TtHabH S| 3,000 0 3,000
01 AL EFH S 3,000 0 3,000
O 2IEIN=EH dety) 2 3,000,000& 3,000
NE3sH el A 162,000 126,000 36,000
& 81,000
< 24,300
Al 56,700
101 14 Hl 136,000 101,600 34,400
& 68,000
< 20,400
Al 47,600
04 JIZHHZ2XREE S 136,000 101,600 34,400
O o2 Y AMIEEE S 136,000, 000 136,000
= 68,000
= 20,400
Al 47,600
201 et 2,000 1,400 600
2 1,000
< 300
Al 700
01 At 2teltl 2,000 1,400 600
O et=+=EH| 2,000,000& 2,000
& 1,000
< 300
Al 700
202 Odl 3,000 3,000 0
= 1,500
< 450
Al 1,050
01 = LH 4 4l 3,000 3,000 0
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@2 NEEH 43 (2 &HH)
(o
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
© Btx=ZH| 5,000,000& 5,000
02 2324 15,000 15,000 0
O M2ZAHHIMALAEESE 3 2=
15,000,000 15,000
Al & 22| 288,800 224,145 64,655
201 2Et2Hy| 132,300 112,645 19,655
01 AP 2t 2] H| 68,300 48,645 19,655
O gbBtx==H| 1,000,000 1,000
O ZFHAUEANE 2RA dU=s 4,000,000& 4,000
O MEANHE AGAE AR s H|
825,000 x12& 9,900
O HMEANE HIANEZE AFEH =2
700,000 ~ 12€ 8,400
O MSAIE L M) M NC HAH L2
20,000,000 20,000
O SINBSLAE =X U= 5,000,000& 5,000
O A& NE BIgd 29 20,000, 000& 20,000
02 2=2=24%H| 64,000 64,000 0
O Z222= 2 AHA 64,000,000 64,000
207 I & d| 7,000 0 7,000
01 A& 2| 7,000 0 7,000
O =X 22 |IHA E 29
7,000,000 7,000
301 et A= 31,500 31,500 0
06 212t01 =22/ (4 H] 20,000 20,000 0
O HESANYE MASHIE e ol AEAIE
Ehgt 20,000,000 20,000
09 #HAIAHI BEAZ 1,500 1,500 0
O A2 AE 23 A 24
1,500, 000& 1,500
12 JIEtE2 A= 10,000 10,000 0
O MeAIZ Sd3 T2)dH 29
10,000,000& 10,000
401 Al HI L £ 0HHI 118,000 80,000 38,000
01 Al& B 118,000 80,000 38,000
O HMEAZE AId=2 EX=Z2A 80,000,000 80,000
O SKNSLANE F=XE B4 38,000,000 38,000
AAZOl A HAXRAAS (XA 740,000 0 740,000
401 AlEHIZL 2 0HY| 740,000 0 740,000
01 Al&H| 740,000 0 740,000
O AE S AHSO HHNG Y HUHA
20,000,000 20,000
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el NE3M 245 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O Aa3e FH FINE S MIEHZHNSE
NEHEH S4AMY EXN L A2
720,000,000& 720,000
A EZH dELXel LAY 104,428 0 104,428
= 52,214
< 15,664
Al 36,550
307 21201 A 104,428 0 104,428
= 52,214
< 15,664
Al 36,550
02 HIAFAAFEX 104,428 0 104,428
O AMIHZMN BELXel ZdAY
104,428,000 104,428
= 52,214
< 15,664
Al 36,550
HeotAgs NJAY 30,000 0 30,000
402 RIZEX20l A 30,000 0 30,000
01 RIZt Xt 2 AL E = (REATH &) 30,000 0 30,000
O FHehAYA AR AIEEH XA
30,000, 000& 30,000
SEHS SAAMY 10,000 0 10,000
401 A& HIZ 201 Y] 10,000 0 10,000
01 A& HI 10,000 0 10,000
O BEHS(HAUXNRE) SHAY AP E oL
=N 10,000, 000& 10,000
24T HE HAXNJASE (EX) 1,800,000 0 1,800,000
< 900,000
Al 900,000
401 Al HIZ 201 I 1,800,000 0 1,800,000
< 900,000
Al 900,000
01 A& HI 1,793,600 0 1,793,600
O &30 HE HIXNF S MIEZHSE
N2 =&AY 1,793,600, 000& 1,793,600
< 896,800
Al 896,800
03 Al SR THHI 6,400 0 6,400
O &30 FH FINH S MIEHIHNSE
N2MEH =8AY 6,400,000 6,400
< 3,200
Al 3,200
HEANE ASSHUSAMS(ZY]) 120,000 0 120,000
< 60,000
Al 60,000




AN ARSI A Z T
3 NSEMsd
e ANSBH 243t

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 120,000 0 120,000
< 60,000
Al 60,000
01 A& HI 120,000 0 120,000
O HSAE ANEEZ AL 90,000, 000& 90,000
< 45,000
Al 45,000
O SINSLANE SHEZ T L Ex3AM
30,000, 000& 30,000
= 15,000
Al 15,000
L24ZO AN EEZ KR AY 1,104,036 0 1,104,036
< 552,018
Al 552,018
307 glz2+ol & 1,104,036 0 1,104,036
< 552,018
Al 552,018
02 HAHFHAANGFEX 1,104,036 0 1,104,036
O 24a30 AMAEEE NS
1,104,036, 000& 1,104,036
< 552,018
Al 552,018
XIS 288 01 932,525 641,040 291,485
= 147,980
< 227,025
Al 557,520
Ol Xl 2o 2 A4 otEzte] 6,000 3,000 3,000
201 L4l 6,000 3,000 3,000
01 At 22l 1,000 1,000 0
O HUHX 2 BHQY EES 1,000,000 1,000
02 =24l 5,000 2,000 3,000
O RS & 2,000,000& 2,000
O I XNBSE 918 NLERE2A B
= 3,000,000& 3,000
ATHHA UK =X (2 HAE ) 236,250 158,400 77,850
< 70,875
Al 165,375
402 2I2H X201 M 236,250 158,400 77,850
< 70,875
Al 165,375
02 QI EAIL EZ (01T ) 236,250 158,400 77,850
O F=eXJAS 236,250, 000& 236,250
< 70,875
Al 165,375
MeIE JtAANE WA 184,975 154,240 30,735
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= 147,980
Al 36,995
403 X SHHS =0l & 184,975 154,240 30,735
= 147,980
Al 36,995
02 S 2SO0 HEAE R E AL H 184,975 154,240 30,735
O MYUS JtAAM HEAS 184,975,000& 184,975
= 147,980
Al 36,995
SANIA BSAE EX8 XA 135,000 135,000 0
< 67,500
Al 67,500
402 RIZ2HXt20l ™ 135,000 135,000 0
< 67,500
Al 67,500
02 2IZt 2 AL EZ (OIS ) 135,000 135,000 0
O AL BZAIE &EXH XA
135,000, 000& 135,000
< 67,500
Al 67,500
MeE JbAANE WA AL 50,000 50,000 0
403 MtXISHE X201 E 50,000 50,000 0
02 S 2SHHEHAE R 2 E AL B 50,000 50,000 0
O NMBIE JIAEOINZE ESAE
50,000& = 1,0000t3 50,000
ATHAN UK ASXA (IR X ) 108,000 0 108,000
< 54,000
Al 54,000
402 RI2EX20l A 108,000 0 108,000
< 54,000
Al 54,000
02 LA TEALEZ(0IETHR) 108,000 0 108,000
O ATMAHUHK HAEXNI(2NHEXE)
108,000, 000& 108,000
= 54,000
Al 54,000
Z2Y S M3 =XNALE EHSZ AXIA 69,300 60,000 9,300
< 34,650
Al 34,650
402 RI2EX201 A 69,300 60,000 9,300
< 34,650
Al 34,650
02 QI EAIL B (01X S) 69,300 60,000 9,300
O Jd=2Y S MI=STAIE HEZEI AL
69,300,000& 69,300
< 34,650
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ASdMsd
HUXS 2= 018

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| Al 34,650
SAJIA B2AE £&XH X 143,000 0 143,000
402 BI2H X =20l M 143,000 0 143,000
01 SIZEXIEANSEXR (MM A) 143,000 0 143,000
© S AIA ZS A AXH XN (FHUL8E)
143,000,000 143,000
S0 XY & Iz ol & 474,400 701,900 A 227,500
S0l 4 ¢ X 374,400 384,400 A 10,000
201 et | 3,700 13,700 A 10,000
01 AP 2t 2] H| 2,700 12,700 A 10,000
O gBtx==2H| 2,700,000& 2,700
02 2=2=24%H| 1,000 1,000 0
O Z222= 2 HA 1,000,000 1,000
301 et A= 700 700 0
09 HAIAHI BEAZ 700 700 0
O AUA Dol =4t S| & IHAF B4
700,000 700
306 542 200,000 200,000 0
o1 s 32 200,000 200,000 0
O A2&B0 EHES NIAMNY E2H=2
200,000,000& 200,000
307 giztol A 70,000 70,000 0
02 QIZ2IA AAIE E X 70,000 70,000 0
O XNYXAMA ZEXE ALY 50,000,000 50,000
SA0| Y MAlet s EOHHl K&
20,000,000 20,000
308 MXISHMSOIA 100,000 100,000 0
10 2| 2S00 UsHE A X 2AE A 100,000 100,000 0
O HAAIZ WS OHA 50,000,000 * 23| 100,000
AbSE A 2 ALY 50,000 50,000 0
307 2Iz2to| A 50,000 50,000 0
02 QIZFAB AAIE E X 50,000 50,000 0
O HYEFHEH XSAY 40,000,000 40,000
O ZBSN=SHAMEEH XSALS 10,000,000& 10,000
SA0|Y JIBHAIE HE % 50,000 50,000 0
401 A& HI L E0HHI 50,000 50,000 0
01 Al&HI 50,000 50,000 0
O ZSA01Y JIBAIE HE S AFY
50,000,000 50,000
XN dxel 2= 357,880 116,374 241,506
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g dxel &

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 74,752
& 57,064
Al 226,064
LAY 29 151,000 116,374 34,626
201 LBt 144,000 53,000 91,000
01 AP 22| H| 15,000 15,000 0
© £Btx=ZH| 7,000,000& 7,000
O DNE=SXEAHEYH &), A8 S| & &
RS 8,000,000& 8,000
02 2324 33,000 12,000 21,000
O 2Ky RER2 S 1,000,000 1,000
O dXelXN}MEH EHOIXN SANE%
3,000,000& 3,000
© DEEXNEAHdH 29 2222(8D],
<) 24,000,000 24,000
O DNEEXNEHAHNMEH SAES 5,000,000& 5,000
03 A2 HH| 96,000 26,000 70,000
O FY2AX A& L 2|2 2T
6,000,000& 6,000
O LXeldHerets 50,000,000 50,000
O Fgerersl 40,000,000 40,000
202 04d| 2,000 2,000 0
01 2Ll 2,000 2,000 0
O XNggxtel E&=Xd =2WHodl 2,000,000 2,000
206 T 2 Hl 1,000 1,000 0
01 =4l 1,000 1,000 0
O FYdUg T2 ) 2HH| S
1,000,000 1,000
301 et A= 4,000 4,000 0
09 #HAIAHI BEAZ 3,000 3,000 0]
O FG2AXN F3AE L A& 2T
3,000,000 3,000
12 J|EtE2 A3 1,000 1,000 0
O FY2H TN 2H LAY S
1,000,000 1,000
NA=ce FEARe AL (=MA BE ALt 188,880 0 188,880
o Xt2l+AFS)
= 74,752
&< 57,064
Al 57,064
101 Q124 H] 184,880 0 184,880
= 73,152
& 55,864
Al 55,864
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04 JIZHHZ2XREES 184,880 0 184,880
O FEFAHX Al 184,880
= 73,152
< 55,864
Al 55,864
201 Let24d] 1,000 0 1,000
= 400
< 300
Al 300
01 At 2teltl 1,000 0 1,000
O 82, EH S L2 1,000
2 400
< 300
Al 300
301 et d = 3,000 0 3,000
= 1,200
< 900
Al 900
09 HALAHIEA S 1,000 0 1,000
O FHSHA FAX AH S 1,000
= 400
= 300
Al 300
12JIE243 2,000 0 2,000
O FHHEZ LA 2,000
= 800
< 600
Al 600
ANE=Cs dEgdRel A(EZUeldshH) 18,000 0 18,000
101 @14 Hl 18,000 0 18,000
04 JIZHHZ2Z2XRHEE S 18,000 0 18,000
O 4028 s AISRRE 2 18,000, 000& 18,000
M. s5HN =4 & 29 703,500 3,141,500 A 2,438,000
< 30,000
Al 673,500
JIE=XE s elxet 2= 703,500 3,141,500 A 2,438,000
= 30,000
Al 673,500
MASI A & 2el 327,500 125,500 202,000
201 ¢4l 16,500 14,500 2,000
01 At 22l 1,500 1,500 0
© gEt==EH| 1,500, 000& 1,500
02 2324l 15,000 13,000 2,000
0 3322 % HAM(RER3) 8,000,000& 8,000
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O XNEBE=E S 1,000, 000& 1,000
O XEg==d X el 6,000,000& 6,000
203 AR = T b 1,000 1,000 0
03 AlB=XQ@EY 1,000 1,000 0
O &Y (s3)EeX =4 1,000, 000& 1,000
401 Al HI & 2B 310,000 110,000 200,000
01 A& HI 308,600 110,000 198,600
O LHHEX =8 HUIAY 30,000,000& 30,000
O &g (s3)8A Xyl 30,000,000& 30,000
O LX=s3CHX =2 FHl= A 50,000,000 50,000
O 4dEss3CHX SZ2H=XclAI4 =2
ALY 198,600, 000& 198,600
03 A& =2 THHI 1,400 0 1,400
O L4E3s3HX S2H=XclAl4 =2
HB ALY 1,400,000 1,400
JIgRX g5 F&H 16,000 16,000 0
201 Let2d] 10,000 10,000 0
01 At 22l 10,000 10,000 0
O JIgRX 222 =25+< 10,000, 000& 10,000
202 Odl 2,000 2,000 0
01 =2 LHAYI 2,000 2,000 0
© JIERX &3 0l 2,000,000& 2,000
203 R =&l 4,000 4,000 0
03 A F=XH R =ZH| 4,000 4,000 0
O JIgRX &3 4,000,000 4,000
AMATHT EHAY(EE) 60,000 1,500,000 A1,440,000
< 30,000
Al 30,000
307 21201 A 60,000 0 60,000
< 30,000
Al 30,000
02 LAFLAFEX 60,000 0 60,000
O AMAACHI LAY (MHE ZSHE0E
K3 AL) 60,000,000& 60,000
< 30,000
Al 30,000
k=253 XY MLIXZE SXSA(KAN) 300,000 0 300,000
401 Al HI L 2 THHI 300,000 0 300,000
01 A& HI 297,900 0 297,900
O JtoF=22s5HX Y2 MUK Z EXS
A 297,900, 000& 297,900
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03 AlE 2 THHI 2,100 0 2,100
© JloF=2s3H =2 &X3
At 2,100,000& 2,100
A (=B)SX HASLH2AAL £X 2l 2,923,000 1,444,000 1,479,000
2 500,000
Al 2,423,000
H-3ZHM2ANE 8X ¢ 2,923,000 1,444,000 1,479,000
= 500,000
Al 2,423,000
SH=HMelAlE 22 472,000 601,000 A 129,000
201 YEt2 | 224,000 161,000 63,000
02 =24l 224,000 161,000 63,000
O ShtLBrMAER] H=XclAe 24 &
nes 54,000,000 54,000
O ZIF=s3HX =xXelAld 29 &8I
=2 72,000,000& 72,000
O H4E3=3EA Ha=XMelANd &8I
=2 28,000,000 28,000
O Sb&b I =4 MSH X2l 84
70,000,000& 70,000
206 24 65,000 0 65,000
01 MHZ 4l 65,000 0 65,000
O sS4 & =4k MSE X el 225
- 50,000,000& 50,000
O 4d=sts3H MolAlE 234l
15,000, 000& 15,000
401 AIEHI L 201 183,000 440,000 A 257,000
01 A& HI 183,000 440,000 A 257,000
O ¢ (s3)eX SEAE B2
= 45,000,000 45,000
O SZH=HM2AANE AL B & Wil
90,000,000& 90,000
O H4E3=3HA Ha=XMelANd XL
= 33,000,000& 33,000
O dEss3¢H Ha+=XelA4 HIIS
X el 15,000, 000& 15,000
HaZUHMeAE 8K (LY) 750,000 0 750,000
= 500,000
Al 250,000
401 Al HIZ 201 8] 750,000 0 750,000
= 500,000
Al 250,000
01 A& HI 745,300 0 745,300
O H=3ZHXM2AE &X 745,300,000 745,300
= 495,300
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Al 250,000
03 Al 2 THHI 4,700 0 4,700
O H=3ZXelAlEg &X 4,700,000 4,700
= 4,700
Ha-3LHMelAld SXX& (XAl 1,701,000 843,000 858,000
401 Al HIZ 2018 1,701,000 843,000 858,000
01 A& HI 1,701,000 843,000 858,000
O 8S3=s3HA HE=SZXIAE XA
& 1,701,000, 000& 1,701,000
YA (AS = ZH L) 108,600 96,160 12,440
Jl2ZHl (At & Z H 1) 108,600 96,160 12,440
Jl2ZHl (M HZ /D) 108,600 96,160 12,440
201 ¢er2d| 40,500 26,500 14,000
01 At 22/l 40,000 26,000 14,000
© get==EH| 30,000, 000& 30,000
© =&l 10,000, 000& 10,000
02 =224l 500 500 0
O A ZEHl |RXH S 500,000& 500
202 o4dl 55,200 56,160 A 960
01 = LH o4 1l 55,200 56,160 A 960
O MARBME =W
200,000& = 798 « 12& 16,800
O 2XclEEE WAL
200,000& = 49¥ » 12& 9,600
O HUXXEE WAL
200,000& = 4% = 128 9,600
O CHEXE WAL
200,000& = 49¥ « 12& 9,600
O JIYXNAE WAL
200,000& = 49¥ « 12& 9,600
203 R =&l 7,500 8,100 A 600
01 J122E YR =2 3,300 3,300 0
O #HEZANTE 275,000 * 123 3,300
04 FEANSEH =L 4,200 4,800 A 600
O A3 =AM 350,000& = 12& 4,200
204 AR A H| 5,400 5,400 0
01 ¥R A 5,400 5,400 0
O H=EZANZZH 350,000& = 1¥ = 12& 4,200
O MIFAHWME(52)
100,000& » 198 = 128 1,200




